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|1. Find the prime boctomzaion o 140 w,a Bunee difenent methads.
* The prime. Jackonizakion of 1240 uing Base dlferiank melhods.
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? = 4 %2310
| = 5 X248
= 8 %155
= 0% 124

1 = 207 62
‘ = 234 240
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|| The Joetons of 1240 are,
| 1,2,4,5.8,10,20,31,40,62,124,155, 248,310,620,1240.
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3. Find the oll prime fockons of 1740.
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1240 = 2° x5%314
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l‘ Thertedorte , all Hhe Pn'--mg Jm{pns os 1240 are, = 2,5,34.
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4, Firnd the ol co'mposi):e. actons o 1240.
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The Jactors of 1240 one,1,2,4,5,8,10,20, 31 40,62,424 155, 48,310,620,
1240.
40, 20,40,62424,155
There o)l Hhe compeste faotores of 1740 are, 4,830/
/ oty i 248, 310, 620.



